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Parentesi	
  matema+ca:	
  prodo1o	
  ve1oriale	
  

A


B


BA


×

Prodotto tra vettori	
  
due	
  %pi	
  di	
  prodo*: 

prodo%o	
  scalare	
  
	
  
	
  
è	
  un	
  numero	
  (scalare) 

prodo%o	
  ve%oriale	
  
	
  
	
  
	
  	
  	
  	
  	
  è	
  un	
  ve6ore 

BA

⋅ BA


×

già	
  visto: questo	
  lo	
  definiamo	
  adesso 
αcosBABA


≡⋅
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Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

per	
  definizione	
  è	
  il	
  ve.ore	
  che:	
  	
  
A


B


α
BA


×

ü ha	
  direzione	
  perpendicolare	
  al	
  piano	
  individuato	
  dai	
  
ve.ori	
  	
  	
  	
  	
  	
  	
  	
  e	
  	
  	
  	
  
	
  
ü ha	
  verso	
  fissato	
  dalla	
  regola	
  della	
  mano	
  destra	
  
	
  
ü ha	
  modulo	
  	
  

A


B


αsenBABA


=×

Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

A


B


BAC


×=

Regola	
  della	
  mano	
  destra:	
   C

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Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

BAC


×=

Regola	
  della	
  mano	
  destra:	
  

Nota:	
  se	
  si	
  usasse	
  la	
  
sinistra	
  il	
  verso	
  sarebbe	
  
opposto.	
  La	
  scelta	
  della	
  
destra	
  è	
  una	
  convenzione	
  
(destrorsa	
  o	
  destrogira).	
  	
  

A


B


C


Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

BAC


×=

Regola	
  della	
  mano	
  destra:	
  

Un	
  modo	
  diverso	
  di	
  usarla	
  
è	
  questo	
  

A


B


C

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Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

BAC


×=

Regola	
  della	
  mano	
  destra:	
  

Nota:	
  ruotando	
  il	
  primo	
  
ve.ore	
  verso	
  il	
  secondo,	
  
la	
  regola	
  della	
  mano	
  
destra	
  riproduce	
  anche	
  il	
  
verso	
  di	
  avvitamento	
  delle	
  
viB	
  o	
  dei	
  cavatappi	
  (stessa	
  
convezione	
  destrogira)	
  	
  

A


B


C


Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

BAC


×=

Regola	
  della	
  mano	
  destra:	
  

Importante:	
  se	
  si	
  inverte	
  
l’ordine	
  dei	
  ve.ori	
  (si	
  gira	
  B	
  
verso	
  A,	
  sempre	
  con	
  la	
  mano	
  
destra),	
  il	
  pollice	
  punta	
  in	
  
verso	
  opposto.	
  Quindi	
  il	
  
prodo.o	
  è	
  anB-­‐commutaBvo:	
  	
  

A


B


C


ABBA


×−=×
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Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

è	
  il	
  ve.ore	
  che:	
  	
   A


B


α

BAC


×=

ü è	
  perpendicolare	
  ad	
  	
  	
  	
  	
  	
  	
  e	
  
ü ha	
  verso	
  fissato	
  dalla	
  regola	
  della	
  mano	
  destra	
  
ü ha	
  modulo	
  	
  

A


B


αsenBABA


=×

C


RipeBamo	
  la	
  	
  
definizione:	
  

Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

Il	
  modulo	
  
	
  
	
  
	
  
ha	
  un	
  significato	
  geometrico	
  
semplice:	
  è	
  l’area	
  del	
  
parallelogrammo	
  costruito	
  con	
  i	
  
due	
  ve.ori.	
  	
  	
  	
  

A


B


ααsenBABA


=×

C


h

h
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Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

Caso	
  parBcolare:	
  
se	
  i	
  ve.ori	
  sono	
  
paralleli,	
  allora	
  
	
  
e	
  il	
  modulo	
  del	
  
prodo.o	
  è	
  nullo.	
  Ne	
  
segue	
  che	
  il	
  prodo.o	
  
ve.oriale	
  è	
  il	
  ve.ore	
  
nullo:	
  	
  	
  
	
  

A


B


0BA =×


0sen =α

Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

Altro	
  caso	
  parBcolare:	
  
se	
  i	
  ve.ori	
  sono	
  
ortogonali,	
  allora	
  
	
  
e	
  il	
  modulo	
  del	
  
prodo.o	
  è	
  il	
  prodo.o	
  
dei	
  moduli.	
  	
  
	
  

A


BABAC


=×=

1sen =α

A


B


2/π

C

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Prodo1o	
  ve1oriale	
  di	
  due	
  ve1ori	
  

Altre	
  proprietà	
  importanB:	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Infine,	
  possiamo	
  esprimerlo	
  in	
  coordinate	
  cartesiane.	
  
Basta	
  introdurre	
  i	
  soliB	
  versori	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  .	
  	
  

BCAC)BA(C


×+×=+×

zyx uuu ˆ,ˆ,ˆ

)B(AB)A()BA(

kkk ×=×=×

Prodo1o	
  ve1oriale	
  in	
  	
  coordinate	
  cartesiane	
  

xû
yû

Essendo	
  versori	
  perpendicolari,	
  
noBamo	
  che	
  	
  
	
   

zû
yxz

xzy

zyx

uuu
uuu
uuu

ˆˆˆ

ˆˆˆ

ˆˆˆ

=×

=×

=×

0ˆˆ
0ˆˆ
0ˆˆ

=×

=×

=×

zz

yy

xx

uu
uu
uu

[occhio	
  all’ordine	
  
degli	
  indici!!]	
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Prodo1o	
  ve1oriale	
  in	
  	
  coordinate	
  cartesiane	
  

xû
yû

Ora	
  consideriamo	
  il	
  
prodo.o	
  ve.oriale	
  di	
  
due	
  ve.ori	
  generici,	
  
usando	
  le	
  loro	
  
coordinate	
  catersiane	
  
	
   zû

A


B


zzyyxx

zzyyxx

uuu

uuu

BˆBˆBˆB

AˆAˆAˆA

++=

++=




Prodo1o	
  ve1oriale	
  in	
  	
  coordinate	
  cartesiane	
  

A×

B= (ûxAx + ûyAy + ûzAz )× (ûxBx + ûyBy + ûzBz )
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Prodo1o	
  ve1oriale	
  in	
  	
  coordinate	
  cartesiane	
  

A×

B= (ûxAx + ûyAy + ûzAz )× (ûxBx + ûyBy + ûzBz )
= (ûx × ûx )AxBx + (ûx × ûy )AxBy + (ûx × ûz )AxBz

+(ûy × ûx )AyBx + (ûy × ûy )AyBy + (ûy × ûz )AyBz

+(ûz × ûx )AzBx + (ûz × ûy )AzBy + (ûz × ûz )AzBz

Prodo1o	
  ve1oriale	
  in	
  	
  coordinate	
  cartesiane	
  

)BABA(ˆ)BABA(ˆ)BABA(ˆ
BAˆBAˆBAˆBAˆBAˆBAˆ

B)Aˆˆ(B)Aˆˆ(B)Aˆˆ(

B)Aˆˆ(B)Aˆˆ(B)Aˆˆ(

B)Aˆˆ(B)Aˆˆ(B)Aˆˆ(

)BˆBˆBˆ()AˆAˆAˆ(BA

xyyxzzxxzyyzzyx

yzxxzyzyxxyzzxyyxz

zzzzyzyzxzxz

zyzyyyyyxyxy

zxzxyxyxxxxx

zzyyxxzzyyxx

uuu
uuuuuu

uuuuuu
uuuuuu
uuuuuu
uuuuuu

−+−+−=

−++−−=

×+×+×+

×+×+×+

×+×+×=

++×++=×


[no%amo	
  che	
  il	
  segno	
  “+”	
  si	
  o*ene	
  nelle	
  permutazioni	
  pari	
  degli	
  
indici	
  x,y,z ,	
  e	
  il	
  segno	
  “–”	
  si	
  o*ene	
  nelle	
  permutazioni	
  dispari]	
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Prodo1o	
  ve1oriale	
  in	
  	
  coordinate	
  cartesiane	
  

(

A×

B)x =AyBz −AzBy

(

A×

B)y =AzBx −AxBz

(

A×

B)z =AxBy −AyBx

Quindi	
  le	
  componenB	
  cartesiane	
  del	
  ve.ore	
  prodo.o	
  
sono	
  le	
  seguenB:	
  
	
   

e	
  per	
  chi	
  sapesse	
  già	
  cos’è	
  il	
  determinante	
  di	
  una	
  
matrice:	
  	
  
	
   

⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛

=×

zyx

zyx

zyx uuu

BBB
AAA
ˆˆˆ

detBA


Prodo1o	
  ve1oriale	
  in	
  	
  coordinate	
  cartesiane	
  

(

A×

B)x =AyBz −AzBy

(

A×

B)y =AzBx −AxBz

(

A×

B)z =AxBy −AyBx

Quindi	
  le	
  componenB	
  cartesiane	
  del	
  ve.ore	
  prodo.o	
  
sono	
  le	
  seguenB:	
  
	
   

da	
  qui	
  si	
  vede	
  bene	
  anche	
  il	
  fa.o	
  che	
  il	
  prodo.o	
  
ve.oriale	
  è	
  perpendicolare	
  ai	
  ve.ori	
  daB.	
  Ad	
  esempio,	
  se	
  
A	
  	
  e	
  B	
  	
  	
  hanno	
  componente	
  z	
  nulla	
  (stanno	
  nel	
  piano	
  x	
  y),	
  
automaBcamente	
  il	
  loro	
  prodo.o	
  ve.oriale	
  ha	
  solo	
  
componente	
  z.	
  	
  	
  
	
   

A

B

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Prodo1o	
  ve1oriale	
  e	
  rotazioni	
  

Il	
  prodo.o	
  ve.oriale	
  è	
  uBle,	
  tra	
  
le	
  altre	
  cose,	
  per	
  rappresentare	
  
rotazioni.	
  	
  
Consideriamo	
  il	
  caso	
  più	
  
semplice	
  di	
  una	
  parBcella	
  che	
  
compie	
  un	
  moto	
  circolare	
  
uniforme	
  nel	
  piano	
  xy.	
  
	
   

x

y

z

Prφ

Prodo1o	
  ve1oriale	
  e	
  rotazioni	
  

Introduciamo	
  un	
  nuovo	
  ve.ore	
  
perpendicolare	
  al	
  piano	
  dell’orbita	
  e	
  
avente	
  componente	
  in	
  quella	
  
direzione	
  pari	
  alla	
  velocità	
  angolare:	
  

x

y

z

Pr

ω


φ

ω


dt
duz
φ

ω ˆ=
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Prodo1o	
  ve1oriale	
  e	
  rotazioni	
  
Ci	
  chiediamo	
  cos’è	
  il	
  
prodo.o	
  ve.oriale	
  	
  
	
  
	
  
Per	
  definizione	
  è	
  
perpendicolare	
  a	
  entrambi	
  
ed	
  ha	
  modulo	
  
	
  
	
  
	
  
Ma	
  un	
  ve.ore	
  così	
  è	
  
proprio	
  il	
  ve.ore	
  velocità	
  
della	
  parBcella	
  !!	
  	
   x

z

Pr
v

ω


φ

rr ωω =×


r ×ω

Prodo1o	
  ve1oriale	
  e	
  rotazioni	
  

Dunque	
  
	
  
	
  
e	
  questa	
  è	
  una	
  relazione	
  che	
  
tornerà	
  uBle.	
  	
  

x

y

z

Pr

ω


φ

v

rv 
×=ω
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Prodo1o	
  ve1oriale	
  e	
  rotazioni	
  

x

z

P
rω



φ

v

NoBamo	
  che	
  vale	
  anche	
  se	
  
l’orbita	
  sta	
  in	
  qualsiasi	
  
piano	
  parallelo	
  al	
  piano	
  xy.	
  	
  
	
  
InfaU,	
  direzione	
  e	
  verso	
  
non	
  cambiano	
  e	
  inoltre:	
  

R

ϑ

rv 
×=ω

Rrr ωϑωω ==× sen

Parentesi	
  matema+ca:	
  prodo1o	
  ve1oriale	
  

A


B
BA


×

e	
  questo	
  è	
  tu.o	
  quello	
  che	
  ci	
  serve	
  sul	
  prodo.o	
  ve.oriale.	
  
Possiamo	
  chiudere	
  la	
  parentesi	
  matemaBca	
  e	
  riprendere	
  il	
  
discorso	
  sui	
  sistemi	
  acceleraB.	
  	
  


